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3XML� V\XNXU� SHQXOLV� SDQMDWNDQ� NHSDGD� $OODK� 6:7� \DQJ� VHQDQWLDVD� PHPEHULNDQ�
UDKPDW� GDQ� NDUXQLD�1\D� VHKLQJJD� WXJDV� DNKLU� \DQJ� EHUMXGXO� ³3HUDQFDQJDQ�
(QWHUSULVH $UFKLWHFWXUH 0HQJJXQDNDQ�)UDPHZRUN 72*$)� $'0� 3DGD� %LGDQJ�
.HDUVLSDQ %$3$36, .DEXSDWHQ�%DQGXQJ´� GDSDW� WHUVHOHVDLNDQ� GHQJDQ� EDLN� GDQ�
WHSDW�ZDNWX�
'DODP� SHQ\XVXQDQ� GDQ� SHODNVDQDDQ� WXJDV� DNKLU� LQL�� SHQXOLV� WLGDN� OHSDV� GDUL�
EDQWXDQ�GDQ�GXNXQJDQ�EHUEDJDL�SLKDN��2OHK�NDUHQD�LWX��SDGD�NHVHPSDWDQ�NDOL�LQL�
SHQXOLV�PHQJXFDSNDQ�EDQ\DN�WHULPDNDVLK�NHSDGD�
�� %DSDN� <XOL� $GDP� 3UDVHW\R�� 6�7��� 0�7�� VHODNX� GRVHQ� SHPELPELQJ� SHUWDPD

\DQJ� EHUVHGLD� PHQ\HPSDWNDQ� GLUL� XQWXN� PHPELPELQJ� SHQXOLV�� PHPEHULNDQ�
PDVXNDQ�GDODP�SHQ\HOHVDLDQ�WXJDV�DNKLU�LQL�

�� %DSDN�6RQL�)DMDU�6XU\D�*XPLODQJ��6�7���0�7��VHODNX�GRVHQ�SHPELPELQJ�NHGXD�
\DQJ� VHODOX� PHPEHULNDQ� VROXVL� WHUNDLW� SHUPDVDODKDQ� WXJDV� DNKLU� LQL��
PHPEHULNDQ�EDQ\DN�LOPX�EDUX��GDQ�VHJDOD�PRWLYDVL�\DQJ�WHODK�GLEHULNDQ�

�� ,EX� ,U�$QLWD� (PPD\DQWL�� 0�7��� ,EX� 5DWQD� 1XUKD\DWL�� 6�7��� %DSDN�0�� $NEDU�
3DKOD��6�7���GDQ�,EX�/HQL�1XU�1XUODLQL��6�6RV��VHODNX�SHPELPELQJ�ODSDQJDQ�GL�
%$3$36,� \DQJ� WHODK� EHUVHGLD�PHOXDQJNDQ�ZDNWX� GDQ�PHPEHULNDQ� LQIRUPDVL�
VHUWD�GDWD�\DQJ�GLSHUOXNDQ�SHQXOLV�GDODP�PHQJHUMDNDQ�WXJDV�DNKLU�LQL�

�� /XFN\� 6XU\D� 3HUPDGL� GDQ� )DULG� +DNLP� 1LVZDQV\DK� VHODNX� WHPDQ� VDWX�
NHORPSRN�SHQ\XVXQDQ�WXJDV�DNKLU�LQL��\DQJ�VHODOX�PHPEHULNDQ�VHPDQJDW�VHUWD�
EDQWXDQ�GDODP�SHQ\XVXQDQ�WXJDV�DNKLU��

$NKLU�NDWD��SHQXOLV�EHUKDUDS�VHPRJD�WXJDV�DNKLU�LQL�GDSDW�EHUPDQIDDW�EDJL�VHPXD�
SLKDN�\DQJ�PHPEXWXKNDQ�


